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LR ARIT _ER ] 2,849  1,445| 1,404 1,180 (R T2 1 1,907 928 979 728 (B HT 3 ] 526 273 253 257
CH BT R 771 397 374 378 TR T B 2,392 1,236 1,156 1,141 LR T BLAR) 1] 492 260 232 216
[T i ] 854 425 429 373 PRIFHTRER 1T B 484 215 269 263 [BIRgHT] 2,698 1,391| 1,307 1,201
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HARET Y Lo BT 3 T B 149 64 85 70 KT AL 1,927 951 976 785
R R 1T H 269 128 141 128 PRIERTEERAT A 298 149 149 134 REHTRET1IT H 141 69 72 70
FRARITY R 2T B 241 117 124 113 RIFHTFERS T B 596 334 262 323 RERTIEET2T H 154 90 64 73
HRETY R 3T H 226 113 113 102 PRIERTEER 6T A 232 117 115 105 REHTARET3 T H 113 60 53 57
FRRITY R feA T B 104 44 60 55 RS BT B I 4,658 2,355 2,303| 2,239 KERTIERTAT H 277 142 135 165
HRETY R 5T H 224 105 119 105 IUIEN [RHET ALHT] 2,612 1,312 1,300 1,150
PRI R 6 T B 210 110 100 99 BRI AR 1T H 155 81 74 67 KT = T
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[T W, 2 B ] 2,022 993| 1,029 940 [&)mT] 10,781| 5,366| 5,415 4,768 [ REEmT] 4,512 2,271 2,241 2,024
[T B ] 1,355 662 693 547 ()11 /T F135 ] 541 285 256 257 LR ] 1,706 827 879 741
(kT B A ] 1,045 519 526 482 () [HT Fp 3] 771 371 400 340 [FEmT] 1,706 827 879 741
LRI R 3 ] 1,530 781 749 604 () [T T FE ] 268 129 139 113 [BEAHT /N 11] 32 16 16 12
[T i ] 1,375 686 689 601 EFNLEN 895 444 451 346 [ BEAHT 2 ] 43 22 21 22
[ 4T ] 12,757| 6,402 6,355 5,533 ()1 BT /e ] 184 91 93 78 [BEAHT £ ] 544 269 275 261
RS T P 7 ] 96 50 46 39 ()[BT _F/ )N ] 300 148 152 154 [RAAMT )\ ] 190 97 93 94
CRAE T R 1,377 672 705 575 () 10T /NG ] 638 332 306 317 [BEAHT B A | ] 599 291 308 254
RS T A I 1,285 622 663 555 ()11 m7 4 ] 97 47 50 39 [RAAMT & H ] 812 392 420 169
CRAEJENT 1= E ] 1,111 556 555 470 [3E)11mT] 3,694| 1,847| 1,847| 1,644 [BIAHT B AR ] 887 412 475 349
B HT & 1,237 602 635 470 (RArgmT#h N | ] 856 437 419 390 [ BEZHT] 3,107 1,499| 1,608 1,161
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BT S H2 T B 188 100 88 91 [RArEMTRIA T ] 300 155 145 122 AEF 39,255 19,603 19,652| 17,072




